Week 9, Day 2 **Short division**

Each day covers one maths topic. It should take you about 1 hour or just a little more.

- Start by reading through the Learning Reminders. 1. They come from our *PowerPoint* slides. 2 2.1 2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 Sketch a line from 2.3 to 2.4.
- Tackle the questions on the Practice Sheet. 2. There might be a choice of either Mild (easier) or Hot (harder)! Check the answers.

3. Finding it tricky? That's OK... have a go with a grown-up at A Bit Stuck?

Think you've cracked it? Whizzed through the Practice Sheets? 4. Have a go at the Investigation...







Learning Reminders





Learning Reminders



			Practice Sheet Mil	d	
			Short division		
Write any rem	ainders	s as fractions.			
	1.	4 456	6. 8	972	
			_		
	2.	3 523	7. 3	427	
	2	([1] 0		100	
	3.	0 0/8	8. 4	129	
	Λ	5 736	03[10/	
	- .	5 7 50	7. 3	174	
	5.	4 622	10.5	427	
Challenge Marika says 'The	hiagert		ve when dividing by 6 is 5 '		
Do you agree wi	th her?	Explain your ideas.	te when dividing by 0 is 3.		
			· · ·		
© Hamilton Trust			Explore more Ham	nilton Trust Learning Materials at	https://wrht.org.uk/hamiltor



Practice Sheets Answers

Short division (mild)

1.	456 ÷ 4 = 114
2.	$523 \div 3 = 174 \frac{1}{3}$
3.	678 ÷ 6 = 113
4 .	736 ÷ 5 = 147 ¹ / ₅
5.	$622 \div 4 = 155 \frac{1}{2}$
6.	$972 \div 8 = 121 \frac{1}{2}$
7.	$427 \div 3 = 142 \frac{1}{3}$
8.	129 ÷ 4 = <mark>32</mark>
9.	194 ÷ 3 = <mark>64</mark> ² / ₃
10.	427 ÷ 5 = <mark>85 ²</mark> 5

Challenge

Yes, Marika is correct. If you had more than 5 left over, you could make another group of $\boldsymbol{6}!$

0

 \wedge

Short division (hot)

1.	$429 \div 4 = 107 \frac{1}{4} = 107.25$
2.	$647 \div 5 = 129 \frac{2}{5} = 129.4$
3.	$860 \div 8 = 107 \frac{1}{2} = 107.5$
4 .	$873 \div 7 = 124\frac{5}{7} = 124.71$
5.	$359 \div 4 = 89 \frac{3}{4} = 89.75$
6.	$195 \div 6 = 32\frac{1}{2} = 32.5$
7.	$486 \div 12 = 40 \frac{1}{2} = 40.5$
8.	$627 \div 12 = 52\frac{1}{4} = 52.25$
9.	$419 \div 11 = 38 \frac{1}{11} = 38.09$
10.	578 ÷ 8 = 72 ½ = 72.25
11.	$298 \div 6 = 49 \frac{2}{3} = 49.67$
12.	$575 \div 11 = 52\frac{3}{11} = 52.27$

Challenge

e.g.	940 ÷ 3 = 313 $\frac{1}{3}$
or	$123 \div 9 = 13 \frac{2}{3}$

0

© Hamilton Trust

 \wedge

Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton

 \wedge

 \bigcirc

 \triangle



Now use your answers to help work out the answers to at least two of these divisions. You score 10 points for each correct answer BUT you will score 10 bonus points if the division has a remainder.

143 ÷ 4 249 ÷ 4 326 ÷ 4 371 ÷ 4

S-t-r-e-t-c-h: Use chunking to work out $254 \div 6$ and $378 \div 6$. What multiplications facts could you list to help?

© Hamilton Trust

Learning outcomes:

 $208 \div 4$

I can use chunking to divide, using lists of multiples of 10 of the divisor to help.
I am beginning to write my own lists of multiples to help.

Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton

2	+ ?	= X	CM3	1/2 ÷	E	⅓	>	m²	*	%	4	5⁄6	-	ст	;	*	÷	⅓
*	Investigation																	
m²					Aw	eso	me	ans	we	rs								N
^	1.	Use thi	s magio	c squar	e.				U									×
13		2	9	4]				0									Cm ³
w		7	5	3	1				0	Nu	umber	435						1/2
- ! ·		6	1	8]				0	Di	ivisor i	is 6						-1-
1/2 2	2.	Generate a 3-diait number by using									0 72 r3 or							
cm ³		numbe Fach n	numbers with adjacent sides.							6)43'5								*
×	3	Choose	a divi			<i>,</i> .			0			72%						v
	Э.	Divida		.diait -	umbor	by ye	الم مريد	vicor										m,
۰۱۰	4. 5	Write	the rem	-aigh n	r as a fr	by yc	501 010 505 Mc	nsor. No cu	ro it i	ic in i	te eim	nlest	for	.	<u>3</u> i	e 1		*
*	5.	write the remainder as a traction. Wake sure it is in its simplest form, e.g. $\frac{1}{6}$ is $\frac{1}{2}$.											%					
C -	0.			1	1 1	1		5 WIIII	eaci	101	mese	nac	non	5 111 111	ie ai	iswei	•	~
с <mark>ж</mark>		$\frac{1}{2}$ $\frac{1}{3}$	3	4	5 6	ī	12											%
T	7.	You must use 3-digit numbers generated using the magic square as above.											1					
≥%	HINT	HINT: Think what divisors can be used to generate each fraction!												c m				
۷																		
%											4							
+											•••							
m²										CIM								
^										1/2								
₩										-1-								
L.										m								
-1-																		*
3 1/2	A	Chall	enge															v
ст	Т			a 4 -1:	ait				<u></u>			<u>ь</u>	in :+					m,
×	Se	et your c	wn cho	allenge	for you	u or o	a part	ner!	un c	ai 15W(ei wit	11 6	111 IT.					*
"																		%
¢.	© Hamilte	on Trust		Exp	lore mor	e Han	nilton	Trust L	earnir	ng Mo	aterials	at ht	tps:/	/wrht.c	org.u	k/ham	nilton	~
۷	* ?	= X	Стз	1/2 ÷	£	⅓	>	m²	*	%	۷	⁵⁄6	-	ст	;	×	+	⅓